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s 212 ABR4Y
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E5 Al 5,845,012 5,810,130 34,882
200 M2l +=¢ 5,795,012 5,760,130 34,882
210 & HAN 2= 5,693,312 5,668,430 24,882
212 AHBE ¢ 5,343,085 5,418,203 AT75,118
212-04 &= AIEZ 5,343,085 5,418,203 AT5,118
< Mot MNP A > 5,343,085 5,418,203 AT5,118

Oz REIEN HE 2= 5,198,520

. I8 E 730 %261,000m 122 2,286,360

o LotE 1,470& +98,000m »12& 1,728,720

. HEEE 1,400& ~800m * 122 13,440

. LEtZYE 750& %130,000m = 12& 1,170,000

O7Zg JI=Ee3 144,565

. 13m/m 540& x6,5008 122 42,120

. 20m/m 1,510 «600H » 122 10,872

. 25m/m 2,430 «6708 128 19,587

. 40m/m 7,290« 1108 128 9,622

- 50m/m 11,2203 x120& <123 16, 156

. 75m/m 29,8603 x358 128 12,541

. 100m/m 46,1303 308 x128 16,606

- 150m/m 101,300& 78 » 128 8,509

- 200m/m 143,380F x58 122 8,602
213 =8¢ 1,920 1,920 0
213-04 JIEt===& 1,920 1,920 0
< Aot AP A > 1,920 1,920 0

Ox=E3ZA =8 =g 1,920

. 13m/m ~ 25m/m 9,000& =180 1,620

o 40m/m ~ 15,000& =204 300
214 Ng=¢ 346,307 246,307 100,000
214-06 OH2F AL =2 46,307 46,307 0
< ot AP > 46,307 46,307 0

O=ZHZI 2 = (258 =) 46,307

- 13m/m 138, 900& = 1204 16,668

. 20m/m 179,300& =304 5,379

. 25m/m 220,200& =304 6,606
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- 40m/m 447,800 =54 2,239

- 50m/m 537,400& =54 2,687

- 75m/m 891,800& =44 3,567

. 100m/m 1,070, 1002 324 3,210

- 150m/m 1,905,890 24 3,811

- 200m/m 2,140,300 14 2,140
214-09 JIEFAL S =& 300,000 200,000 100,000
< ot MPA > 300,000 200,000 100,000

O=E3At =g 1,500,000 2002 300,000
216 Ol Xt==¢ 2,000 2,000 0
216-01 33030l XK= 2,000 2,000 0
< ot AMEA > 2,000 2,000 0

OMz0Ix+ =g 2,000
220 A FHAN2 = 101,700 91,700 10,000
222 RY3 81,700 81,700 0
222-02 4t 23 81,700 81,700 0
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. 75m/m 2,400,000 *4JH 9,600

. 100m/m 4,000, 000& =34 12,000
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- 200m/m 14,000,000 * 14 14,000
225 AtE =42 20,000 10,000 10,000
22501 AtE &g 20,000 10,000 10,000
< ot AP > 20,000 10,000 10,000

OXdEE =g 20,000
700 EX =L SHUENH 50,000 50,000 0
710 28+ S 50,000 50,000 0
711 A= 50,000 50,000 0
711-01 =MAHLAHS 50,000 50,000 0
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2AMN: Aot ALY A
Hu: AAGE - AL B
Sl AT FHu - Bel(MATSHN) (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 A& HI 1,009,200 460,028 549,172
O ANEZS HIIEE 89
20,000,000& *23| 40,000
O+ ANEZE WEIHds oblEI 849 30,000
Oa==TANE R HEEI SAES
700,000& *6IH 2~ 4,200
O%+H 2 2FHA 12,500,000& #2204 A 25,000
O RODILE A4 LA
20,000,000& =44 2~ 80,000
Oy Jslt 89 830,000
405 XHo&HF S HI 6,000 0 6,000
01 AL 2B F SHI 6,000 0 6,000
O&NXIA S=EXDI 7Y 3,000, 000& *2H 6,000
AT HTASR 271,746 210,834 60,912
101 @1 21| 24,336 23,424 912
04 JI2ZtH2ZXNEE S 24,336 23,424 912
OJIZtMZ22 s E 24,336
. o12H| 69,6603 * 1Y 253 17,624
. AEEYsY 69,660& *1H x66 4,598
. AEE M= 22 2,114
201 Yot 2 Y| 8,400 8,400 0
02 =329l 8,400 8,400 0
OJALDEANAE L 2SI RANES
600,000& x12& 7,200
ONMAHXMEIA SXNE S 600,000& »2& 1,200
206 T 2l 61,010 61,010 0
01 X2 bl 61,010 61,010 0
O HEI F¢ 27,051
. 13m/m 43,400& *1400H 6,076
. 20m/m 49 ,200& *40H4 1,968
. 25m/m 72,900& =404 2,916
. 40m/m 147 ,000& =104 1,470
. 50m/m 188,900& =104 1,889
. 75m/m 891,800& =44 3,568
. 100m/m 1,070, 100& *3H 3,211
. 150m/m 1,905, 890& =24 3,812
. 200m/m 2,140,300& =1} 2,141
OHEIIBEss 7Y 30,959
, 13m/m 95,500 * 14004 13,370
. 20m/m 130, 100-& =404 5,204
. 25m/m 147 ,300& *40H4 5,892
. 40m/m 300,800& =104 3,008
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AN dot=SAFE A
M MaT - A4 B
Sl MAT Byl - Bel(MEESBIH) (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
. 50m/m 348,5002 104 3,485
OAEI s E20H 2
15,0002 *200H 3,000
401 A& HIZ 201 8] 178,000 118,000 60,000
01 A& HI 178,000 118,000 60,000
OL=AEI Wi 58,000
. 27Z(50mm Ol at) 200, 000& *250H 50,000
. CH=2& (50mm = 1t) 800,000 =104 8,000
OkL==2s& uA % 04 1,500,000& »80H 120,000
FuaxE o 2Y 3,029,468 3,029,468 0
206 M= Hl 3,001,468 3,001,468 0
01 M= 4l 3,001,468 3,001,468 0
OZois4+T F4 7Y
432.83%19,000= +365 3,001,468
308 AHAIEHHSOIA 28,000 28,000 0
07 IXNHMAR S = 28,000 28,000 0
OSFY 44+AB57Y LIS 22 28,000
=E I A 200,000 200,000 0
401 Al HIZ 2018 200,000 200,000 0
01 A& HI 198,570 198,570 0
O=&8 S Al 198,570
03 Al 2 0HHI 1,430 1,430 0
O=&Z Al 1,430
a=E2I5 3 A 300,000 200,000 100,000
401 Al HI K 201 I 300,000 200,000 100,000
01 A& HI 297,855 198,570 99,285
Ox=E2S3A 297,855
03 Al S THHI 2,145 1,430 715
O3 3 M 2,145
=22 S A 437,867 200,000 237,867
401 AIEHI L 2CHEI 437,867 200,000 237,867
01 A& HI 434,736 198,570 236, 166
O&+22 I3 A 434,736
03 A& S THHI 3,131 1,430 1,701
O&=2tx IS A 3,131
a2 EHEIA 100,000 200,000 100,000
401 AIEHI L 2 CHYI 100,000 200,000 100,000
01 A& HI 99,285 198,570 299,285
Oax=ztz EEIA 99,285




SH: ABSEE A A
B MaT - A4 BR
ool ALE - 2

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 AIE 2 0HHI 715 1,430 AT15
Q&2 EHEIA 715
HY I ZH (Mot=ZAISE L) 100,855 95,879 4,976
A (A+CSESIH) 87,415 77,159 10,256
ol 2AH| 87,415 77,159 10,256
101 @144 dl 87,415 77,159 10,256
03 RIAHAZ 2B+ 87,415 77,159 10,256
Ox=Eea3ge o=y 87,415
. 2= 2,669,600 x2H x12& 64,071
. ANZ2tA225 17,2823 x15A1 2H+2H « 128 6,222
. RE2RE 92,1673 «150%*2H 15 4,148
. AXREFIH=E 92,1673 x2H x152 2,766
., Mg A 130,000& »2H 122 3,120
. BEFOHHI 2,669,600 x60%*2H x23| 6,408
. NEE 40,0003 x 18 «128 480
Il =l 100, 000& »2H 200
Jl2ddl(d4+==Sg3H) 13,440 18,720 A5,280
JlE&l 13,440 18,720 25,280
201 £B-2d| 1,440 3,600 22,160
01 At 22l 1,440 3,600 22,160
Oti==Xl HMZRA =5 =
60,0003 x2H 128 1,440
202 O4dl 12,000 15,120 23,120
01 = LH YI 12,000 15,120 23,120
Oax=EE 12,000
MRS (Aot AIE ) 20,009 362,250 A 342,241
SBENE(M4=E=SE3H) 20,009 362,250 A 342,241
B&XE 20,009 362,250 A 342,241
802 BtEt= DI Ef 20,009 0 20,009
03 JIEtEtEt 3 S 20,009 0 20,009
OXNHHE heda E =20 OE e
3 20,009
ol gl gl 20,000 0 20,000
ololbl (&+=S283H) 20,000 0 20,000
ol Bl 8l 20,000 0 20,000
801 GilBI8I 20,000 0 20,000
BURERES 20,000 0 20,000
O2zlao 222 20,000
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